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1)  322-781

2)  Decrease 158 by 1/79

3

Factorisej2 + 9 + 20

Answer:

T

Name the type of angle.

Answer:

Answer: Answer: Answer:
4) Find area of 5) 'What isthe probability of rolling a
b rectangle having multiple of L.whenrolling adice Find Volume of
sidesa=29in Rectangular Pyramid
a andb=28in 20
Answer: Answer: Answer:
7) Find perimeter of 8) Find perimeter of 9) 121,12,
b rectangle having b rectangle having
sidesa=96m sidesa=96m
a andb=30m a andb=30m
Answer: Answer: Answer:
10) 11) 12) 10715 - 214
20 J Find VVolume of Cone Find the next three numbersin
the sequence
= 436510918 , ,
16
Answer: Answer: Answer:
13) 74.6 - 55.4 14) 15) Find the range of the following set of data:

0,0.6,0.2

Answer:
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16)  What would you multiply by to 17)  What would you multiply by to 18) (Ax7°) x (2x 8%
increase an amount by 83%? increase an amount by 83%?
Answer: Answer: Answer:
19) 65+ 13 20) Solve 12+ 7s+4=0 21)  Increase 60 by 5%
Round your solutionsto 1 decimal
place.
Answer: Answer: Answer:
22)  Write 10 in standard form. 23) Solve 4j2 -13j+3=0 24) 221x14
Round your solutionsto 1 decimal
place.
Answer: Answer: Answer:
25) 16.5x 6.3 26)  What would you multiply by to 27) Find perimeter of
increase an amount by 32%? square having each
s side (s) equals 97 m
s
Answer: Answer: Answer:
28) Find perimeter of 29)  Write 2 x 104 asanorma number. 30) 97% of 47
sguare having each
s side (s) equals 97 m
s
Answer: Answer: Answer:
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31) 182+ 7x 12

Answer:

32)  Write 10 x 107 asanormal number.

Answer:

a 0 c
Measure angle boc

Answer:

34) Solveby factorising

35) Find perimeter of

36) 59% of 45

X2 +8x+16=0 . triangles=23in
s
Answer: Answer: Answer:
37) A number was shared in the ratio 38) Find areaof triangle || 39) Find perimeter of
20:10. The smaller share was 8. a=17ft,b=33ft b rectangle having
What was the total amount shared? b ¢ sidesa=40in
a andb=29in
a
Answer: Answer: Answer:
40) 55 X 50 41) 51-1214, 42)  Anamount wasincreased by 1% to
$473.00. Find the original amount.
Answer: Answer: Answer:
43) 219« 510 44)  Solve20x2-17x-5=0 45) 100 + 75
—a Round your solutionsto 1 decimal
2 place.
Answer: Answer: Answer:
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46) 26 x 73 47) 48) Convert the following fraction into a
19_/» mixed number: 18/5
2 ) Volumeof Cone
13
Answer: Answer: Answer:
49) Round 25.7811 to 3 decimal places. 50)
17 7~ Find Volume of
/20 Triangular Pyramid
20 20
17

Answer:

Answer:

Total: /50
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Answers:
1) -45.9 2) 156 3) (j +4)(j +5) 4) 812in 5 1 6) 3080 7) 252m
8) 252m 9) 137 10) 1340.4128655316 11) 17,34,33, 12) 195, 13)19.2 14) Acute
15) 0.6 16) 1.83 17) 1.83 18) 550731776  19)5 gcz $=-060r- 563
22)1x 10! 23)j=30r03 24)309.4 25) 103.95 26) 1.32 27) 388m 28) 388m
29) 0.0002 30) 45.59 31) 32) 100000000  33) 58 34)x=-4or-4 35)69in
36) 26.55 37)24 38) 280.5ft 39) 138in 40) 2750 41) 4%, 42) $468.32
43) 2% 342) x=L11lor- 45175 46) 1898 47) 3362.5513368923 48) 6 49) 25.781
50) 963.33333333333
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